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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q3.

Q5.

Q6.

gt sfarm wfeemst § adats ol aeed (@hd) i smavEma =69
# ? W H o Rl % gl d foff. wiea 6l s ol £ |
(150 wreai # Fe ifs)

Why is Public Private Partnership (PPP) required in infrastructural projects ?
Examine the role of PPP model in the redevelopment of Railway Stations in
India. (Answer in 150 words)

T WA HIEEAEYT F Iria auraeht faem w@wa 2 2 wna § it faem
wifea % fore faefta wmam & wevs w1 geora Fifi | (150 wregi § I Af)

Is inclusive growth possible under market economy ? State the significance of
financial inclusion in achieving economic growth in India,

(Answer in 150 words)

wd H wreets o womeft (fdum.) B v gifEt 70 E 2 @ B g
woreft w1 arEe s S Ewar 8 2 (150 wedi # I i)

What are the major challenges of Public Distribution System (PDS) in India ?
How can it be made effective and transparent ? (Answer in 150 words)

WA H TR TSR I % HEeE iR g &1 afawr quia Hif |

(150 w2 5 3= i)
Elaborate the scope and significance of the food processing industry in India,
(Answer in 150 words)

& # ey wwilda § o afg & T § 9 e il @R A H E | =
T3 Ftfaal ®H- @ # 3 3 quaE ¥ =0 F29 B0 I AEEE § 2
(150 =gt & 3w &)

The increase in life expectancy in the country has led to newer health
challenges in the community. What are those challenges and what steps need
to be taken to meet them ? (Answer in 150 words)

gl 1 war W oufd 9 @ wen d gwefa ged, dge, S oA o 2 ) T
a5 wepfaes wfwaett @ qomar @ el f ar @ Tesieanss, s aa
H 3 Ie9rE) H wafda & e 2 2 (150 rsal § I difew)

Each year a large amount of plant material, cellulose, is deposited on the

surface of Planet Earth. What are the natural processes this cellulose
undergoes before yielding carbon dioxide, water and other end products ?

(Answer in 150 words)
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Q7.

Q10.

Ql11.

T fwio, ywE st wmA F WEw 3 FC Behmea W fi fawngds @=
£ | 1999 F M Werwe H wuwEe | (160 weEi § I &)
Discuss in detail the photochemical smog emphasizing its formation, effects
and mitigation. Explain the 1999 Gothenburg Protocol.

(Answer in 150 words)

TR IR % ey § aee wed 1 Frafafy oi e # awee | w9 & @
FerEvil o Wi e | (150 weel # I Eifem)

Explain the mechanism and occurrence of cloudburst in the context of the
Indian subcontinent. Discuss two recent examples. (Answer in 150 words)

g smos ¥ w6 ot B | 9 e siaddE wRow g Wt
sy 3 sdwartzal % e geul w1 avlq fife | (150 wEE § I §fm)
Discuss the types of organised crimes. Describe the linkages between terrorists
and organised crime that exist at the national and transnational levels.

(Answer in 150 words)

wrd # wgdl guen gAfeat #=n € 2 e wen § gun % fag f w wree,
TR afft wfrarens geel i fadem $ifse | (150 wegi ® IR i)

What are the maritime security challenges in India ? Discuss the
organisational, technical and procedural initiatives taken to improve the
maritime security. (Answer in 150 words)

“gre % Tl w1 anfdes famme o segesan # gfg % Hwor dwa gan R 17 W w5

1 TEETET | Ud wgfg wiaww i swarfaa Fifw 51 gm Ienewa @ wwwa fHe

siferss T Ieafa § wEEE B | (250 w2l ° I difsw)

“Economic growth in the recent past has been led by increase in labour

productivity.,” Explain this statement. Suggest the growth pattern that will

lead to creation of more jobs without compromising labour productivity.
(Answer in 250 words)
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Q12. F1 WF FEm § wia o T snawww # 50 sl wm, 3¢ 2030 @
Felrehofs Sl & 9T HEm 2 3 IR F e ) fag Fif | e S0 @
afetel 7o 38 Teiwwla S del § e vl stva off o fea seR wEEE
BN 2 GWHTST | (250 wedl # IeR i)

Do you think India will meet 50 percent of its energy needs from renewable

energy by 2030 ? Justify your answer. How will the shift of subsidies from

fossil fuels to renewables help achieve the above objective ? Explain. 15
(Answer in 250 words)

Q13. wrd # Ff 3ewEl F fawm i Fedge o s wfEn § g A
&7 (250 v § I Aiforw)

What are the main bottlenecks in upstream and downstream process of
marketing of agricultural products in India ? (Answer in 250 words) 15

Q14. Fafha Y wonefi @ & 2 wwa # w1 i dinig framl F foe 9 39 wmeEs @
Tl 8 ? (250 wI&E) § I Aifomn)

What is Integrated Farming System ? How is it helpful to small and marginal
farmers in India ? (Answer in 250 words) 15

Q15. 25 g, 2021 Fi ST T Sew A9 s eefieeniy @il & WHTERI § & 73 @ |
IuH Tt FRAN @ s fadivand # S 90 w9 RSl B siafty Yo @ o
st & 2 59 fee % weu o w # 2w fy % forw s Sl o A
g%d & 7 (250 weai H 3w i)

Launched on 25" December, 2021, James Webb Space Telescope has been
much in the news since then. What are its unique features which make it
superior to its predecessor Space Telescopes ? What are the key goals of this
mission ? What potential benefits does it hold for the human race ? 15
(Answer in 250 words)

Q16. I fadm &1 smaroq fagia @01 2 2 dwm F9 w6 0 § 2 wifae.19 AR F
T 29wt dafm fwfared 3 @ vgfat oo £ 2
(250 Fregi # I Fifom)
What is the basic principle behind vaccine development ? How do vaccines
work ? What approaches were adopted by the Indian vaccine manufacturers to
produce COVID-19 vaccines ? (Answer in 250 words) 15
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Q17.

Q18.

Q19.

wae afdn (AfFEs amm) f w=wi Fife o dfvas wwEy w s e #®
Ieong Hifs | F91E Ui, 1997 % HAE § wEe SiHn w1 w0 g9 g
fierza 16l % T = w9 w4 & o e ot w g |

(250 vrez] ® Iem difsm)

Discuss global warming and mention its effects on the global climate. Explain
the control measures to bring down the level of greenhouse gases which cause
global warming, in the light of the Kyoto Protocol, 1997. (Answer in 250 words)

i § 9dlg TEs % HAv US YNIE] W AU | Wl H ghEe i % o
ITeTON A WEUA Tl #4018 7 (250 wea) # I i)
Explain the causes and effects of coastal erosion in India, What are the
available coastal management techniques for combating the hazard ?

(Answer in 250 words)

o guen & fafim o @ # 2 ange gran < i w5 oere § wed g adtan

S & e 3 569 72 7% vF =S U0 wee guan W ShearEs faeiEa

$i &1 (250 w2 7 I Efow)

What are the different elements of cyber security ? Keeping in view the

challenges in cyber security, examine the extent to which India has

successfully developed a comprehensive National Cyber Security Strategy.
(Answer in 250 words)

. TEEETE Th AT, e 3 s g 8 9 o fEee s qean me

& w9 d wohe #ia1 2 | 38 Hed § 3w gu yEl oft w=l Aifse ik TeweEr % mw
# faven it smrata wHifa 1 gema df | (250 eET | I i)
Naxalism is a social, economic and developmental issue manifesting as a

violent internal security threat. In this context, discuss the emerging issues
and suggest a multilayered strategy to tackle the menace of Naxalism.

(Answer in 250 words)
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